[ number of missing inner layers |

1072

1073

10

[ number of missing outer layers |

= Entries 50704 1 Entries 50704
E : Mean 1.657 E Mean 0.1484
E : Std Dev 1374 F Std Dev 0.5141
: ; I : ; I
N e e -1 .
E : Entries 52828 10 E Entries 52828
F Mean 1.65 F Mean 0.1479
C Std Dev 1.364 C Std Dev 0.5124
I S PP -2 feeteiiitiiiiiel..
3 10 3 Entries 50187
F F Mean 0.1424
o 3 o Std Dev 0.5034
= 10°F R
E E Entries 51881
r Mean r Mean 0.1419
Std Dev 10_4 Std Dev 0.5022
. R 5[ £ .
R [ : 107F : :
1058 FUTE FETEY ITETE FETTY PRET] FE W W I T
r —+ :
r i o :
0.95C _l'—==__ == i
0 1 2 3 4 5 6 7 8 9 10
e DQN_DiSplacedSUSY__CKF_
== DQM_DisplacedSUSY__mkFit_
e DQM_DisplacedSUSY__CKF_BDT_
e DOM_DisplacedSUSY___mkFit_ BDT
e Entries 50704
F Mean 13.97
..... Std Dev 3.774
............ N

Entries 111745

Mean 3.103

Std Dev 23.42

: |

I Entries 111745
|y ] Mean 3.103
E Std Dev 23.42
E ; T
N Entries 111745
| an 3.103
E StdlDev e 23.42
r Entries 111745
Mean 3.103

Std Dev 23.42

0.95

TT T T T

101 1

107 10°

3 Entries 52828
10°E Mean 14.07
E Std Dev 3.79

E o T
: _______________ | Entries 50187
- Mean 13.85
10%E Std Dev 3.72

F- Entries
] Mean 13.96
Ty Std Dev 3.742
10k

40
Entries 73799
Mean 3.366
Std Dev 28.5
""" AR
Entries 78528
Mean 3.189
27.33

Std Dev
Entries

Mean

Entries
Mean 2.937

10

Std Dev




	Contents
	Page 1


